Where:
Example: eye blink conditioning

Tone — air puff
]

CR = eye blink

Assumption: must be where convergence of CS and US processing

Step 1: Pathway tracing

A) Anatomy e.g., dye injection

B) Physiology e.g., present sound and record activity

Lesion Experiments show all these areas are necessary

But, where is learning? Learning-Performance Distinction

) _’._"\
- -

-

(Thompson and colleagues)

| Step 1: Pathway tracing |

A) Anatomy e.g., dye injection
B) Physiology e.g., present sound and record activity

| Step 2: Is area important? |

A) Lesion experiments

B) Inactivation experiments (reversible lesion)
inject drug that stops activity in an area for a while

Tone — puff More Tone —puff

1. Control
2. Block activity in CB
3. Block activity in Red Nc.

All without block

Without

With block Block

Control
CR

Block CB Block Red nc.

Trials
CS—US
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R-W? AV = ¢ (Vmax-V)
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Blocking: Learning cancels IO —> CB
(no US “processing” in CB)

AV=c (Vmax-V)




